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const int motorPin = A@; // [ A A0

int sensorValue = 0;

void setup() {
Serial.begin(9600);

void loop() {
sensorValue = analogRead(motorPin); // :=EHI#{H
Serial.println(sensorValue);
delay(1000);

PN
#include <Wire.h>
#include <Adafruit_BMP@85.h>
#include <LiquidCrystal.h>
Adafruit_BMPO85 bmp;
const int rs = 12, en = 11, d4 = 5, d5 = 4, d6 = 3, d7 = 2;
LiquidCrystal lcd(rs, en, d4, d5, d6, d7);

void setup() {
Serial.begin(9600);
lcd.begin(16, 2);
if (!'bmp.begin()) {
Serial.println("FAIL");
while (1) {}



void loop() {

float pressure = bmp.readPressure(); // :=2HI5EE

lcd

lcd.
lcd.
lcd.
lcd.
lcd.

.clear();
setCursor(e, 0);
print("Pressure:");
setCursor(e, 1);
print(pressure);

print(" Pa");

delay(1000);

}

R
#include <Wire.h>

#include <LiquidCrystal.h>

const

int rs = 12, en = 11, d4 =5, d5 = 4, d6 = 3, d7

LiquidCrystal lcd(rs, en, d4, d5, d6, d7);

const

const

float fixedResistance = 1000.0; // 1000 it}
int potPin = AQ;

void setup() {
Serial.begin(9600);

lcd

.begin(16, 2);

void loop() {

int

sensorValue = analogRead(potPin); //:EHIZ[H

float voltage = sensorValue * (5.0 / 1023.0); // :f

float current

lcd

lcd.

lcd
lcd
lcd

lcd.

voltage / fixedResistance;

.clear();

setCursor(@, 0);
.print("Current:");
.setCursor(@, 1);
.print(current, 4); // 4 /i
print(" A");

delay(1000);

}
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